DGM H
HE AR AR SR SR HANSAVFLEX

| _§:3

0 1 KHISNRLL B R

mEFR 1 EB i i
&0 2 KEIANRE B

#FHE 2 24°

gges BERE R4 IR (BE A TVIE )
ERXENE RUHE

grX EE

HeEsEE BEE(THHRIRFMEER)
R¥ £

RERP BERE

—F 1

[ e

he
£ f”gﬁ.

e

L1 Q2

2y

BRRE, FA, EXAEANATNTERENEAEESHTREEENBERESR.

% &

ZWRY IHEEHE Gd2
(mm)

DGM NW 04 HL L PN 315 6 M10x1 M12x1.5 8 14 40,5 7,0 22 19
DGM NW 04 HL 12 L PN 315 6 M12x1.5 M12x1.5 12 17 40,5 7,0 22 19
DGM NW 06 HL L PN 315 8 M12x1.5 M14x1.5 12 17 40,5 7,0 22 19
DGM NW 06 HL 14 L PN 315 8 M14x1.5 M14x1.5 12 19 40,0 7,0 22 19
DGM NW 08 HL L PN 315 10 M14x1.5 M16x 1.5 12 19 40,0 7,0 22 19
DGM NW 08 HL 16 L PN 315 10 M16x 1.5 M16x 1.5 12 22 50,0 7,0 30 24
DGM NW 10 HL 18 L PN 315 12 M18x1.5 M18x 1.5 14 27 50,0 7,0 30 24
DGM NW 10 HL 22 L PN 315 12 M22x1.5 M18x1.5 14 27 *1 7,0 30 24
DGM NW 13 HL L PN 315 15 M18x1.5 M22x1.5 14 24 51,0 7,0 30 24
DGM NW 13 HL 22 L PN 315 15 M22x1.5 M22x1.5 14 27 51,0 7,0 30 24
DGM NW 16 HL L PN 315 18 M22x1.5 M26x1.5 14 27 50,5 7,5 30 30
DGM NW 20 HL L PN 160 22 M26x1.5 M30x2 16 32 64,5 7,5 M 36
DGMNWO3HS 12H S PN 500 6 M12x1.5 M 14 x1.5 12 17 42,5 7,0 22 19
DGMNWO6HS 18H S PN 500 10 M18x 1.5 M18x 1.5 12 22 42,0 7,5 22 19
DGM NW 06 HS H S PN 500 10 M16x 1.5 M18x1.5 12 22 42,0 7,5 22 19
DGMNW20HS27H S PN 400 25 M27 x2 M 36 x 2 18 40 66,0 12,0 M 36

ZHMRILL=FHER LB S=E - PN=FIEESN PB=JFAIkEN - dd2=EHER
) AREFERREH

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
16.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



